[ number of missing inner layers |

[ number of missing outer layers |

1 - —| Entries 3776 1 - —| Entries 3776
E : + | Mean 0.2431 : + | Mean 0.8104
r N : Std Dev 0.591 N : Std Dev 2.022
o O =1 | B L : I
107 s TEnties 3789 10 : *TEnties 3789
F : : Mean 0.2362 o : Mean 0.8527
L H . |Std Dev 0.5852 L . |.Std Dev 2.073
2L H b iofocoifaoodeeoe -2 - H H :
107g D 3923 107k : :
o : : 0.2434 o : :
3 B . . 0.6001 3 B . .
1073t resedeniziies 107 .
3 : : 3919 E : :
F : : 0.2442 F : :
. . . 0.6009 . . .
107'F S R S S T 107 : :
F : + | Entries 3925 F : :+ | Entries
L . . Mean 0.2431 L . . Mean 0.8617
10—5 A o4 [Std Dev 0.5977 10—5 L . v .. Std Dev 2.087
E Entries 3932 E Entries 3932
I : : Mean 0.2459 I : : Mean 0.8652
01([3""""""" von b b Do da el lyagad ol 04— ] P I o I
= kB i = F : :
&U r N e &U E T : :
B Sl dihhil (b bbb i b 1.1 == TrTrremngeemeees
o H H— o = N N
]{F l - [ ol iy o 5 - . .
odbooad o) bdbdbhng A [
= = S —— N N
0 1 2 3 10 15 20 25
——— - o) T
—— —p
T — Il -
mean hil ——= B SE gF_E a
— 40_ - { Entries 3776
o r Mean 16.65
> r Std Dev 4.249
A 35 L o e e T i
Q A I S I SPEPPITINRSPPPR RERPI R Entries 3789
e L : | Mean 16.56
v 30 I A S A 102 - - ;| Std Dev
E Entries
25k
20F 10k
15
o ev 4.302
10 : I
L 1 Entries 3932
r Mean 16.64
o +JB5H- o ic Joanders ol ppad
= =
@ @
e [ | bl 1 B B o =y ) Il 5 % ) Al B el

[y

o
©
C

|
(¢ B B

2 3

track n

Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
ean 2.164
S ev 6.079
Entride 133002
Mean 2.164
Std Dev 6.079

Entries 133002

Mean 2.164

Std Dev 6.079

| I

Entries 133002

Mean 2.164

Stlec—1 11 pigad

0.95 1 * . . ’ 3

10 1 10 10 10

iy

e sad

-+

o
©
(&)

Ratio

30 35 40
track hits

Entries 3918
R e Mean 12.18
lo Std Dev 18.75
: |
Entries 3921
12.15
18.77
|
Entrie 4067
Y - T T T Mean 12.37
10 Std Dev 23.24
Entries leey pu p063
Mean 39
Std Dev 4.25
- 11
Entries 4061
Mean 16
Std Dev 63
Entries 4074
Mean 12.19
Strlec1 11 s giad
1 B 4 B
H - - T |
1 | b T b
H - FISREY .
11 SRR i O TR -4 444 4 -4
H . 1| el | wiss .
H B pes b
B o= | T : + :
0.95 + H H
01
10 1 10




	Contents
	Page 1


